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(ZER=E)
NEE |1 Y% |1 BMYRLY
(M) (M)
EXE1 3, 023 21, 165
B2 3,163 22, 140
SREEE 1 3, 232 22,627
SREEE 2 3, 320 23, 239
ERE 3 3,411 23, 884
ERE 4 3, 500 24, 5056
MERE 5 3, b88 25,1156
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(BR=E)
SR 1A% 720 |1 HMYZDY
(M) (M)
BEX#E1 2,338 16, 370
BEXHE2 2,478 17, 345
MEE 1 2, 547 17, 832
SR 2 2,635 18, 444
SR 3 2,726 19, 089
SR 4 2, 8156 19,710
SRS 2,903 20, 320
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(BRE)
NEE |1HY7Zy | 1 EBMY%Y
(M) (M)
BEXE1 2, 038 14, 270
BEXEE2 2,178 15, 245
NEE1 2, 247 15, 732
NEE 2 2,335 16, 344
SR 3 2,426 16, 989
SR 4 2,516 17,610
SEEE 5 2,603 18, 220

(REsBUEZ)
N 1 1 Y72y | 1@MYDY
(M) ()
EHXHE1 3, 339 23, 377
EXEE2 3,479 24, 352
SEEEE 1 3, b48 24, 839
SEEEE 2 3, 636 2b, 451
SR 3 3, 7127 26, 096
SR 4 3, 816 26, 717
SEREE 5 3, 904 27, 327
(PESBUE =)
SEEE 1YY |1 EMYZDY
(M) (M)
EXE1 2, 788 19, 520
B2 2,928 20, 495
MEE 1 2,997 20, 982
IR 2 3, 085 21, 594
MR 3 3,176 22,239
NEE4 3, 265 22, 860
NS 3, 353 23,470
(PesRTUfE =)
I 1Y%=y [ 1EBYZY
(M) ()
EXE1 2,488 17, 420
EXEE2 2, 628 18, 395
M1 2, 697 18, 882
NEE 2 2,785 19, 494
S 3 2, 876 20, 139
IR 4 2, 965 20, 760
S 5 3, 053 21, 370
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(ZHR=R)
NEE 1Y% |1 BBY7ZDY
() (M)
BEXE1 1, 638 11,470
BEXH2 1,778 12, 445
SR 1 1, 847 12, 932
SRR 2 1,935 13, 544
R 3 2, 026 14, 189
R 4 2,115 14, 810
NEES 2, 203 15, 420
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NEE 1 Y720 | 1B8BY”2DY
() (M)
EXHE1 1, 688 11, 820
EXHE2 1, 828 12, 795
SR 1 1, 897 13, 282
SR 2 1, 985 13, 894
R 3 2,076 14, 539
R 4 2, 165 15, 160
N5 2, 253 15, 770
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(BR=E)
SR 1A% | 1HABYZY
(M) (M)
BEX#E1 300 2,520
BEXHE2 300 2,520
MEE 1 300 2,520
SR 2 300 2,520
SR 3 300 2,520
SR 4 300 2,520
SRS 300 2,520
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NEE |1HY7Zy | 1 EBMY%Y
(M) (M)
BEXE1 3, 631 25, 425
BEXEE2 3,911 27,374
NEE1 4,049 28, 349
NEE 2 4,224 29,572
SR 3 4,408 30, 864
SR 4 4, 586 32, 105
SEEE 5 4,761 33, 326

(PESeBUE =)
SR 1B Y720 | 1HEBYZY
(M) (M)
EXHE1 680 4, 760
EXHE2 680 4, 760
SR 1 680 4, 760
SR 2 680 4, 760
SR 3 680 4, 760
SR 4 680 4, 760
SRS 680 4, 760
(PesRTUfE =)
I 1Y%=y [ 1EBYZY
(M) ()
EXE1 3, 947 27,637
EXEE2 4,227 29, 586
M1 4, 365 30, 561
NEE 2 4, 540 31, 784
S 3 4,724 33,076
IR 4 4,902 34, 317
S 5 5, 077 35, 538
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(M) (M) (M) (M)
BEXHE1 4, 240 29, 685 EXE1 4, 556 31, 897
BEXEE2 4, 660 32, 609 B2 4,976 34, 821
EE 1 4, 866 34, 071 B 1 5,182 36, 283
S 2 5, 129 35, 906 SR 2 5, 445 38,118
M3 5, 405 37, 844 S 3 5,721 40, 056
N4 5,671 39, 705 S 4 5, 987 41,917
SRS 5,935 41, 537 SR 5 6, 251 43, 749
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